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1. In the given Figure AB and CD are

intersecting at ‘O’, OA = OB and OD = OC. Show


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_0sbnUNR4KDWl

that () AAOD = ABOC and (i)

AD| | BC.

° Watch Video Solution

2. AB is a line segment and line | is its
perpendicular bisector. If a point P lies on |,

show that P is equidistant from A and B.

° Watch Video Solution



https://dl.doubtnut.com/l/_0sbnUNR4KDWl
https://dl.doubtnut.com/l/_6HoLl1t6HMv3

3.In the given figure, AB||DC and AD||BC

show that A ABC = ACDA.

D C

° Watch Video Solution

4. In the given figure, AL || DC, E is mid point of

BC.Show that AEBL =~ AECD.


https://dl.doubtnut.com/l/_kGblRTzYJQEn
https://dl.doubtnut.com/l/_O4PjMGH83zm5

] L

° Watch Video Solution

5. Use the information given in the adjoining
figure, to prove :

(iYADBC = AEAC


https://dl.doubtnut.com/l/_O4PjMGH83zm5
https://dl.doubtnut.com/l/_NIcPGDeMrukV

(i4)DC = EC.

o Watch Video Solution

6. Line-segment AB is parallel to another line-
segment CD. O is the mid-point of AD.

Show that (i) AAOB = ADOC (ii) O is also


https://dl.doubtnut.com/l/_NIcPGDeMrukV
https://dl.doubtnut.com/l/_KaCPNHqgYd7B

the mid-point of BC.

° Watch Video Solution

7. In AABC, the bisector AD of A s

perpendicular to side BC Show that AB = AC


https://dl.doubtnut.com/l/_KaCPNHqgYd7B
https://dl.doubtnut.com/l/_e4GB7NHYxX6b

and AABC is isosceles.

o Watch Video Solution

8. In the adjacent

AB = BC and AC = CD. Prove

figure,

that


https://dl.doubtnut.com/l/_e4GB7NHYxX6b
https://dl.doubtnut.com/l/_g3Lcj8GIaTu2

/BAD:/ADB = 3:1.

o Watch Video Solution

9. E and F are respectively the mid-points of

equal sides AB and AC of AABC (see figure)


https://dl.doubtnut.com/l/_g3Lcj8GIaTu2
https://dl.doubtnut.com/l/_WXqlZQfiBbrU

Show that BF = CE.

H L

o Watch Video Solution

10.In an isosceles triangle ABC with AB = AC, D

and E are points on BC such that BE = CD (see


https://dl.doubtnut.com/l/_WXqlZQfiBbrU
https://dl.doubtnut.com/l/_FPFEuP1LYDyo

figure) Show that AD = AE

o Watch Video Solution

11. In quadrilateral ABCD, AB = CD, BC=AD show
that AABC =2 ACDA Consider

AABC and ACDA
D C

o Watch Video Solution



https://dl.doubtnut.com/l/_FPFEuP1LYDyo
https://dl.doubtnut.com/l/_uZ6ZjWKBVsUy

12. AB is a line - segment. P and Q are points
on either side of AB such that each of them is
equidistant from the points A and B (See Fig ).
Show that the line PQ is the perpendicular

bisector of AB.

o Watch Video Solution

13. P is a point equidistant from two lines | and

m intersecting at point A (see figure). Show


https://dl.doubtnut.com/l/_uZ6ZjWKBVsUy
https://dl.doubtnut.com/l/_j3muFeJX0YWS
https://dl.doubtnut.com/l/_RApmeTqPqj8A

that the line AP bisects the angle between

them.

° Watch Video Solution

14.D is a point on side BC AABC such that AD =

AC (see figure). Show that AB > AD.


https://dl.doubtnut.com/l/_RApmeTqPqj8A
https://dl.doubtnut.com/l/_bdXl909ICjQ0

o Watch Video Solution

1. There are some statements given below.

Write whether they are true or false :

Two circle are always congruent.



https://dl.doubtnut.com/l/_bdXl909ICjQ0
https://dl.doubtnut.com/l/_ldZmGYilVhzB

\ o Watch Video Solution

2. There are some statements given below.
Write whether they are true or false :
Two right angle triangles are sometimes

congruent.

° Watch Video Solution

3. Find the component statements of the

following compound statements and check


https://dl.doubtnut.com/l/_ldZmGYilVhzB
https://dl.doubtnut.com/l/_SfyFgNdcPwQt
https://dl.doubtnut.com/l/_KNlGvsweJJjO

whether they are true or false.

Number 3 is prime or it is odd.

° Watch Video Solution

4. There are some statements given below.
Write whether they are true or false :
Two equilateral triangles with their sides equal

are always congruent.

o Watch Video Solution



https://dl.doubtnut.com/l/_KNlGvsweJJjO
https://dl.doubtnut.com/l/_TOZO3zqK8Zor

5. Which minimum measurements do you
require to check if the given figures are
congruent:

I. Two rectangles ii. Two rhombuses.

o Watch Video Solution

6. State whether the following triangles are

congruent or not? Give reasons for your


https://dl.doubtnut.com/l/_tr9PizfbWtUg
https://dl.doubtnut.com/l/_3CKQ7dhw3XT6

answer.

o Watch Video Solution

7. State whether the following triangles are

congruent or not? Give reasons for your


https://dl.doubtnut.com/l/_3CKQ7dhw3XT6
https://dl.doubtnut.com/l/_xq195DxayK3z

answer.

o Watch Video Solution

8. In the given figure, the point P bisects AB
and DC. Prove that

AAPC = ABPD


https://dl.doubtnut.com/l/_xq195DxayK3z
https://dl.doubtnut.com/l/_4ZwpD36nyqHK
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° Watch Video Solution

9. In the adjacent figure AABC and ADBC

are two triangles such that AB = BD and


https://dl.doubtnut.com/l/_4ZwpD36nyqHK
https://dl.doubtnut.com/l/_Xr2aGnUqfvgH

AC = CD .Showthat AABC = ADBC.
A

D

o Watch Video Solution



https://dl.doubtnut.com/l/_Xr2aGnUqfvgH

1. In quadrilateral
ACBD, AC = AD and AB  bisects /A

Show that A ABC = AABD.

What can you say about BC and BD?

o Watch Video Solution



https://dl.doubtnut.com/l/_xfFonMywM99k

2. ABCD is a quadrilateral in which AD =BC and
/DAB = ZCBA Prove that

(1)) AABD >~ ABAC

(i) BD = AC

(iilZABD = /BAC

# D

° Watch Video Solution



https://dl.doubtnut.com/l/_D9VUu26gUJTg

3. AD and BC are equal and perpendiculars to a

line segment AB. Show that CD bisects AB.

B : C

I

° Watch Video Solution

4.1 and m are two parallel lines intersected by

another pair of parallel lines p and q . Show


https://dl.doubtnut.com/l/_D9VUu26gUJTg
https://dl.doubtnut.com/l/_j9jy4fKEFNRO
https://dl.doubtnut.com/l/_fMvrAEGIidcQ

that AABC = ACDA.

° Watch Video Solution

5. In the adjacent figure,

AC = AE, AB = AD and /BAD = /EAC


https://dl.doubtnut.com/l/_fMvrAEGIidcQ
https://dl.doubtnut.com/l/_XN8Isy1iXhCm

. Show that BC = DE.

° Watch Video Solution

6.In right triangle ABC, right angle is at C, M is
the mid-point of hypotenuse AB. C is joined to
M and produced to a point D such that DM =

CM. Point D is joined to point B (see figure).


https://dl.doubtnut.com/l/_XN8Isy1iXhCm
https://dl.doubtnut.com/l/_tbftdHzSJVPp

Show that :
(1)) AAMC = ABMD
(i1) ZDBC is a right angle

1
(i#)) ADBC = AACB (MCM = - AB.

D 4

o Watch Video Solution



https://dl.doubtnut.com/l/_tbftdHzSJVPp

7. In the adjacent figure ABCD is a square and

AAPB is an equilateral triangle. Prove that

AAPD = ABPC.

0 i

o Watch Video Solution



https://dl.doubtnut.com/l/_XmUhlhq6tQvC
https://dl.doubtnut.com/l/_do8Tr7Xms0KP

8.In the adjacent figure AABC! is isosceles as

AB = AC, BA and CA are produced to Q

and P such that AQ = AP. . Show that

PB = QC.
P Q

A

° Watch Video Solution



https://dl.doubtnut.com/l/_do8Tr7Xms0KP

9. In the adjacent figure AABC, D is the
midpoint of BC. DE | AB, DF | AC and

DE = DF.Showthat ABED = ACFD.

A

° Watch Video Solution



https://dl.doubtnut.com/l/_do8Tr7Xms0KP
https://dl.doubtnut.com/l/_EPHqtxzJLULT

10. If the bisector of an angle of a triangle also
bisects the opposite side, prove that the

triangle is isosceles.

o Watch Video Solution

1. In the given figure ABC is a right triangle

and right angled at B such that

/BCA =2/BAC.


https://dl.doubtnut.com/l/_bVDhHbXohCii
https://dl.doubtnut.com/l/_efP3Nx3wiIHL

Show that hypotenuse AC = 2BC.

A

o Watch Video Solution



https://dl.doubtnut.com/l/_efP3Nx3wiIHL

1. In an isosceles triangle ABC, with AB = AC,
the bisectors of /B and ZC intersect each
other at O. Join Ato O. Show that:

(i) OB = OC (ii) AO bisects £ A

o Watch Video Solution



https://dl.doubtnut.com/l/_iW8nr4LkSMNK
https://dl.doubtnut.com/l/_CfyZoigUAxmV

2.In AABC, AD is the perpendicular bisector
of BC (See adjacent figure). Show thatA ABC

is an isosceles triangle in which AB = AC.

A

o Watch Video Solution

3. ABC is an isosceles triangle in which

altitudes BD and CE are drawn to equal sides


https://dl.doubtnut.com/l/_CfyZoigUAxmV
https://dl.doubtnut.com/l/_kIGAzPWXCpWU

AC and AB respectively (see figure) Show that

these altitudes are equal.

° Watch Video Solution



https://dl.doubtnut.com/l/_kIGAzPWXCpWU

4. ABC is a triangle in which altitudes BD and
CE to sides AC and AB are equal (see figure) .

Show that
(1)) AABD =~ AACE

(i) AB = AC i.e, ABC is an isosceles triangle.

A



https://dl.doubtnut.com/l/_F4RwTJNv6Z5W

° Watch Video Solution

5. AABC and ADBC are two isosceles
triangles on thesame base BC (see figure).

Showthat ZABD = ZACD.

A

I o Watch Video Solution


https://dl.doubtnut.com/l/_F4RwTJNv6Z5W
https://dl.doubtnut.com/l/_xMhVADs7Gsqm

1. AD is an altitude of an isosceles triangle ABC
in which AB = AC. Show that, (i) AD bisects BC

(ii) AD bisects ZA.

o Watch Video Solution

2. Two sides AB and BC and median AM of one

triangle ABC are respectively equal to sides PQ


https://dl.doubtnut.com/l/_xMhVADs7Gsqm
https://dl.doubtnut.com/l/_uQGKswzvJfZv
https://dl.doubtnut.com/l/_WiHSfWn07mYX

and QR and median PN of A PQR. Show that
AABM = APQN

(i) AABC =~ APQR

/
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o Watch Video Solution

3. BE and CF are two equal altitudes of a
triangle ABC. Using RHS congruence rule,

prove that the triangle ABC is isosceles.

| & ]


https://dl.doubtnut.com/l/_WiHSfWn07mYX
https://dl.doubtnut.com/l/_B3N0bs7l2y7O

| ' Watch Video Solution |

4. AABC'is an isosceles triangle in which AB =

AC. Show that /B = /C.

° Watch Video Solution

5. AABC(C'is an isosceles triangle in which AB =

AC. Side BA is produced to D such that AD = AB.


https://dl.doubtnut.com/l/_B3N0bs7l2y7O
https://dl.doubtnut.com/l/_owuSh4H2zpRR
https://dl.doubtnut.com/l/_qCgHbzgueX1F

Show that BCD is a right angle.

f/
/
™\
VAN
b

o Watch Video Solution

6. ABC is a right angled triangle in which
/A =90° and AB = AC. Show that

/B = /C.

l o Watch Video Solution


https://dl.doubtnut.com/l/_qCgHbzgueX1F
https://dl.doubtnut.com/l/_IrXG1MUCry6b

7. Show that the angles of an equilateral

triangle are 60° each.

o Watch Video Solution

1. Show that in a right angled triangle, the

hypotenuse is the longest side.

o Watch Video Solution



https://dl.doubtnut.com/l/_IrXG1MUCry6b
https://dl.doubtnut.com/l/_x3hezUiu3YoM
https://dl.doubtnut.com/l/_sVMfO1SS5t0I

2. In adjacent figure, sides AB and AC of
AABC are extended to points P and Q
respectively. Also, /PBC < ZQCB. Show

that AC > AB.
A

o Watch Video Solution



https://dl.doubtnut.com/l/_sVMfO1SS5t0I
https://dl.doubtnut.com/l/_oXd9D0MPhS5q
https://dl.doubtnut.com/l/_F8yxHpcoe2AS

3. In adjacent figure,

/B < /A and /C < /D Show that AD <

BC.

o Watch Video Solution



https://dl.doubtnut.com/l/_F8yxHpcoe2AS

4. AB and CD are respectively the smallest and
longest sides of aquadrilateral ABCD (see
adjacent figure). Show that
LA > /C and £ZB > ZD.

D

o Watch Video Solution



https://dl.doubtnut.com/l/_ZXukpv05lPop

5.In Pr > PQ and PS bisects ZQPR. Prove

that /PSR > /PSQ

o Watch Video Solution



https://dl.doubtnut.com/l/_ZXukpv05lPop
https://dl.doubtnut.com/l/_IMB90idj1j6l

6. If two sides of a triangle measure 4 cm and
6 cm find all possible measurements (positive
Integers) of the third side. How many distinct

triangles can be obtained?

° Watch Video Solution

7. Try to construct a triangle with 5 cm, 8 cm
and 1 cm. Is it possible or not ? Why ? Give

your justification?

° Watch Video Solution



https://dl.doubtnut.com/l/_o6fajvQIKWGR
https://dl.doubtnut.com/l/_9Rt9HSYIhCqT



https://dl.doubtnut.com/l/_9Rt9HSYIhCqT

